( PRESSOL >

Grease nipple assortment

387 pcs.

Item number: 16 099

EAN: 4103810160998
Discount group: A

Technical data
Weight (kg): 2,95

Specification
® Sales package, with Bar code
® 25 pcs., H1, M6 x 1 (15 007)
® 10 pcs., H1, M6 x 1 (15 007 001)
® 15 pcs., H1, M 8 x 1 (15 009)
® 15 pcs., H1, M 8 x 1,25 (15 010)
® 20 pcs., H1,M 10 x 1 (15 013)
® 15 pcs., H1, WHIT 1/4" (15 025)
® 5 pcs., H1, WHIT 3/8", (15 067)
® 25 pcs., H1, PTF 1/8" (15 026 007)
® 25 pcs., H1, G 1/8" (15 037)
® 15 pcs., H1, G 1/4" (15 038)
® 35 pcs., H1, NF, (SAE) 1/4" (15 062)
® 10 pcs., H1, 1/4" - 28 SAE (54 062)
® 5pcs., H1 A, 6 mm (15 003)
® 10 pcs., H1 A, 8 mm (15 004)
® 10 pcs., H2, M8 x 1 (15 109 140)
® 10 pcs., H2, M 8 x 1,25 (15 110 140)
® 10 pcs., H2, M 10 x 1 (15 113 140)
® 15 pcs., H2, G 1/8" (15 137 140)
® 10 pcs., H2,NF, (SAE) 1/4" (15 162)
® 15 pcs., H3, M6 x 1 (15 207 140)
® 10 pcs., H3, M 8 x 1 (15 209 140)
® 10 pcs., H3, M 8 x 1,25 (15 210 140)
® 10 pcs., H3, M 10 x 1 (15 213 140)
® 15 pcs., H3, G 1/8" (15 237 140)
® 5 pcs., H3, G 1/4" (15 238)
® 10 pcs., H3, PTF, 1/8" (15 226 007)
® 10 pcs., H3, NF, (SAE) 1/4" (15 262)
® 5 pcs. hydraulic couplers, 4 jaws, G 1/8" (12 731)
® 10 pcs., 4 jaws, precision machined coupler, G 1/8" (12 743)
® 1 piece tool for grease nipples (16 100)
® 1 pcs., tool for grease nipples (16 102)

Packaging

Dimensions LxWxH (mm): 300 x 245 x 55
Weight including package (kg): 3,52

Packing unit: 1,0

No issue of guarantee for the data.

14.01.2020 07:46:30



